Selection pp — bb,b — by? pp — tt,t = tX0  pp — 46, q — ax’

mg = 500 GeV mg = 300 GeV mg = 700 GeV

Mg = 300 GeV Mg = 200 GeV Mg = 400 GeV

Nyt > 3 67.81£0.12 62.40 £ 0.05 74.65+0.10

Hy > 300 GeV 55.8340.13 22.69 + 0.04 71.86+0.10

Hss > 300 GeV 13.14+0.09 2.69 + 0.02 34.05+0.10
Nimyon = 0 13.07+0.09 2.05 +0.01 34.02+0.10
fmwon) e =0 13.02 4 0.09 1.99 4 0.01 33.98+0.10
Neleetron = 0 12.96 + 0.09 1.5240.01 33.84+0.10
{electxon)  — () 12.86 + 0.09 1.45+0.01 33.70 £ 0.10
(hadron) e =0 12.74 4 0.09 1.34+0.01 33.3940.10
A ymise j, > 0.5 12.70 4 0.09 1.3440.01 33.30+0.10
A g, > 0.5 11.82 40.08 0.9840.01 31.82+0.10
AG g s, > 0.3 11.25 4 0.08 0.80+0.01 30.2940.10
A g5, > 0.3 10.83 4 0.08 0.68 +0.01 29.16 +0.10
Event cleaning 10.78 £0.08 0.68 +£0.01 29.03£0.10




